NAME OF DEPARTMENT MAKING REQUEST & REQUIREMENTS	NAME OF SUPPLIER	ITEM	QTY.	UNIT PRICE GH¢	TOTAL PRICE GH¢
A. REGIONAL CENTRE FOR	I T MARKET LIMITED	2 No.HP Laserjet Toner 201A Black	2	595.00	1,190.00
ENERGY AND	ACCRA	2 No.HP Laserjet Toner 201A Cyan	2	695.00	1,390.00
ENVIRONMENTAL	*	2 No.HP Laserjet Toner 201A Yellow	2	695.00	1,390.00
SUBSTAINABILITY (RCEES)		2 No.HP Laserjet Toner 201A Magenta	2	695.00	1,390.00
		Sub Total			5,360.00
Procurement of Toners for RCEES.		VAT (3%)			160.80
		Grand Total			5,520.80
Technical Requirements:	7.1	Technically Responsive			
2 No.HP Laserjet Toner, 201A Black		Validity - Comply			
2 No.HP Laserjet Toner, 201A Cyan		Delivery Period - Comply			
2 No.HP Laserjet Toner, 201A Yellow		Payment Terms - Comply			
2 No.HP Laserjet Toner, 201A		Document Signed - Comply			
Magenta		Business Registration Certicate-Comply			
		VAT Registration Certificate-Comply			
Other Requirements:		PPA Registration Certificate-Comply			

Validity - 60 Days				GH¢	GH¢
Delivery Period - 1 Weeks	MAJINGO COMPANY	2 No.HP Laserjet Toner 201A Black	2	680.00	1,360.00
Payment Terms-30 Days	LIMITED	2 No.HP Laserjet Toner 201A Cyan	2	680.00	1,360.00
Document Signed	ACCRA	2 No.HP Laserjet Toner 201A Yellow	2	680.00	1,360.00
Business Registration Certificate		2 No.HP Laserjet Toner 201A Magenta	2	680.00	1,360.00
VAT Registration Certificate		Sub Total			5,440.00
PPA Registration Certificate		VAT (3%)			163.20
		Grand Total			5,603.20
		Technically Responsive			
		Validity - Comply			
		Delivery Period - Comply			
		Payment Terms - Comply			
		Document Signed - Comply			
		Business Registration Certicate-Comply			
		VAT Registration Certificate-Comply			
		PPA Registration Certificate-Comply			

MODERN INFORMATION	La company of the com		GH¢	GH¢
& BUSINESS SOLUTION	2 No.HP Laserjet Toner 201A Black	2	350.00	700.00
SUNYANI	2 No.HP Laserjet Toner 201A Cyan	2	350.00	700.00
	2 No.HP Laserjet Toner 201A Yellow	2	350.00	700.00
	2 No.HP Laserjet Toner 201A Magenta	2	350.00	700.00
	Sub Total			2,800.00
	VAT (3%)			84.00
	Grand Total			2,884.00
	Technically Responsive			
	Validity - Comply			
	Delivery Period - Comply			
	Payment Terms - Comply			
	Document Signed - Comply			852 11
	Business Registration Certicate-Comply			
	VAT Registration Certificate-Comply			
	PPA Registration Certificate-Comply	hop ex to fi		

G7 BUSSY LIMITED			GH¢	GH¢
KUMASI	2 No.HP Laserjet Toner 201A Black	2	390.00	780.00
	2 No.HP Laserjet Toner 201A Cyan	2	420.00	840.00
	2 No.HP Laserjet Toner 201A Yellow	2	420.00	840.00
	2 No.HP Laserjet Toner 201A Magenta	2	420.00	840.00
	Sub Total			3,300.00
	VAT (3%)			99.00
	Grand Total			3,399.00
	Technically Responsive			
	Validity - Comply			
	Delivery Period - Comply			
	Payment Terms - Comply			
	Document Signed - Comply			
	Business Registration Certicate-Comply			
	VAT Registration Certificate-Comply			
	PPA Registration Certificate-Comply			

CONSIDERATIONS: All four firms invited presented their its quotation before the Panel.

RECOMMENDATION: MODERN INFORMATION AND BUSINESS SOLUTIONS, SUNYANI was recommended to supply the items at the sum of GH¢2,884.00 (VAT & NHIL inclusive) based on Price Competiveness